Edexcel A level Maths A model for friction o
Section 1: Friction

Solutions to Exercise level 1

1. (@) (O) Resolving vertically: ® —10g =0
R=10%X 9.82= 92 N

(L)) wesolving MorizowtaLLg: 14—-F =0
F=14
F=urR
14 = 98U
=z

(b) (i) Resolving vertically: R +21sln30°-10g =0
R=10X 9.8 —21 X5 =8#5 N

(it) Resolving horizontally: 21¢c0s30°—F =0
F=21xiz
F = urR
z2z=g75u
U =0.208 (3s.f)

) (O resolving vertically: R —10sln20°-104 =0
R= 98 +10sln20°=101 N (3s.f,)

(it) wresolving l/\or’uzowtaug: 10008 20°—F =0
F =10¢c0s20°
F=ur

10c0s20° =( 98 +10sln20°) 1
1=0,0927 (3s.f)

(@) (i) wResolving vertically: R +15sine0°—10g9 =0

R =32—15><§\/:>:=85.0 N (= s.f)

(it) Resolving horizontally: 15¢0s60°—F =0
F=%
F=ur

= (9g-53)u
H=0.0882 (3s.f)
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Edexcel A level Maths Friction 1 Exercise solutions

18 N

Resolving horizontally: F=9
The frictional force is 9N,

(it) R

'

1€ N
9N
There are wo horizowntal forces, so there is wo frictional force.
(tih) R
R WU

rResolving horizontally: 7= 9cose0®=4.5
The frictional force is 4.5 N,
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